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Quantitative Aptitude Sunday Mega Quiz for RRB NTPC - (Solutions)

S1. Ans.(b)
Sol.

S2. Ans.(d)

Sol.
lxb=60 (i)
l+b=17 .. (ii)
from (i) & (ii)
1=12,b=5
diagonal = 13 cm

$3. Ans.(b)
Sol.
160 120
40 Rs

32%5 24x5
= 5m

$4. Ans.(c)
Sol.

=]

TEST SERIES
— >——"61 Bilingual
Difference of profit= 192

5. Ans 0 RRBNTPC

Sol.

Total of 19 members = 304000 c BT 1 . c BT 2

= total of 20 members = 304000 + 20000 = 324000

Avg=>"2 = 16200
] 100+ TOTAL TESTS

ko] =
w k| =

Y
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$6. Ans.(a)
Sol.
Let C.P.= 100

case
1
G

1
100 R
x}_\. )5—:»-1 oo
U110

= C.P.=100 = 200 = 20000 Es.

S$7.Ans.(d)
Sol.

11 9
D=1l

.\‘\-\-‘-‘—I—I—'-FF"
| l
j:‘ ||._I
g X100=11 5

$8. Ans.(d)
Sol.

§=220 (i)
= (i)

10
from (i) & (ii)
L=125&S=12.5m/s =45 km/hr.

$9. Ans.(c)
Sol. 90°

$10. Ans.(b)
Sol. in 4 years

$11. Ans.(d)

Sol.
Let speed of boat in still water = v,
speed of current in still water = v,
Given,

35
vy + v, = 7 km/hr (v=?= )

7
35
vip— Vv, = 5 km/hr (v = = = ?)

On solving, vi, = 6

$12. Ans.(b)
Sol.
x x xy _ 155
(S+5+3)="2
X=X 2= 1 km
&00 3l

~ Total distance = 3x=3x1=3 km

2 | www.bankersadda.com | www.sscadda.com | www.careerpower.in | www.adda247.com



$13. Ans.(a)
Sol.

8 min

2 min

Car1

Car 2 8 mi
Woman min

Woman : car
Time 8 ; 2
Time 4 ; 1
Speed 5 (—@ : @ - 20
S14. Ans.(a)
Sol.
Total time = —— 4+ == = 154 9 = 24 hrs

1Z-3 1Z2+3

$15. Ans.(c)
Sol.

Speedof M = % = 48 kmph

~ speed of W = 224 kmph

$16. Ans.(a)
Sol.

600+ 1000

Speed of the train = =20 m/s

$17. Ans.(d)
Sol.

let Car-I covers 50 km in 1 hour

Atq, Car-II covers 25 km in 2 hour and 50 km in 4 hour D D D kl T D P

Required ratio of speed = 4:1

$18. Ans.(@) SUPREME

Sol.

3 Months Subscription

All Railway Video Courses

LV 7.2kmph
60 5

Speed =

5
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$19. Ans.(d)
Sol.
Distance covered in 45 min. is 45km

Required speed = E ¥ 60 = 67.5 kmph

$20. Ans.(c)
Sol.

Required time = 450 x 15% % 60 = 54 sec

S$21. Ans.(b)
Sol.
10 = C.P.=7 = 5.P.
cprP. 7 ..
= =— J+3(Gain)
SP. 10 DAELC

So, there is gain in dealing

Required percent = %x 100 = 42%%

$22. Ans.(a)
Sol.

Let the man buy in all 30 oranges.

~ C.P of 15 oranges at 3 for Rs. 40 = 43—”! 15 =Rs. 200

Again, C.P of 15 oranges at 5 for Rs. 60 = ?x 15 =Rs. 180
- Total C.P = Rs. (200 + 180) =Rs. 380
5.P. of 30 oranges = E'E—Ex 30 =Rs. 500

-~ Profit = Rs. (500 - 380) = Rs. 120

. Pog = 22
- PO in 100

= 31.58% = 32%

$23. Ans.(c)
Sol.

C.P. of article = Rs. 100 (let)
« Marked price = Rs. 120

~sp=22%%_p: 108
100

= If S.P. = Rs. 108,
C.P=Rs. 100

~ IfS.P.=Rs. 216

CP.=2% 216 =Rs. 200
108
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S$24. Ans.(a) 6 Months Subscription

Sol.
sps))  se(2nd) RRB NTPC
Price 80 : 120
D KA MAHA PACK
Test Series, Live Classes,
Quantity 3 : 2 Video Course, eBooks
x4 x4
12 oranges 8 oranges[price o ] Bilingual
Quantity.
$25. Ans.(a)
Sol.
Let CP =100
~ MP=130

Now, SP after 159 discount
=130 X —=110.5
100
= 110.5 unit — Rs. 910
- CP (100 unit) — Rs. 823.5
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